TEACHERS
- W

addazui addazy
t  Profosclongl PROFESSIONAL EXAMINATION BOARD
Bb@mminqtion Middle School Teacher Eligibility Test - 2018

board 034 Mar 2019 09:30AM

H

Topic:- Child Development & Pedagogy (CDP)

1) A layperson’s understanding of Reinforcement and Punishment are different from those used in

./ U® M e Pl HdaH IR U F AN ST YUF e Wl B ygad gt gl
1. Operant conditioning / ToRaT TH U (3NTUIC HETATA)

2. Sign learning / Tohd 7T (TTS dAfetan)

3. Classical conditioning / 3] Tord I TohAT AT (Fell{Hehel hSIRMTed)

4. Social learning / AT IFATH (Frra @)

Correct Answer :-

« Operant conditioning / fSRaT TR 3-T<7-_[€TQJT-[ (3T ehaIRrfetar)

2) Separation anxiety is considerably reduced in the child by the age of: / T &I g 3y Tt # tlgviﬁ
TR AT ISPl HIB! HH 8l STl 8

1. 1-2 years / 1299
2.2-3 years / 2-3 a4
3.3-4years / 3-4aY

4, 4-5 years / 4-5 a4

Correct Answer :-

e 3-4years / 3-4T9

3) What do IQ test measure? / Tg'@ ?I'[?J(GI'F.{T:PD o T AT SATET %?

1. General intelligence / HAET FRGHT

2. Specific abilities known as S factor / TH &R & dR W A1 fafw Fegar
3. Logical and linguistic intelligence / dTfchen 3R HTOTS gigHaT

4. Emotional intelligence / HTdellcHd FiGH

Correct Answer :-


Lenovo
Stamp

Lenovo
Stamp


+ General intelligence / AT gi&HAT

4) Which of the following is not a personality projective method of measurement? / fFafafRaa # @
PF-W U B v safwra vardt faftr 7t @72

1. Inkblot Test / WTEU?T&"I’UT

2. Sentence Completion Test / WWW&TUT

3. Thematic Apperception Test / Tau EELFJIEF[ TY&ToT
4, Physical Test / QMR TdieToT

Correct Answer :-

« Physical Test / QMRITe T{I&T0T

5) Which of the following is NOT a learning theory? / fFafafea & @ s=-a1 T AT o1 Rigia T8t
?

1. Conceptualism / GYcIATAIG
2. Behaviorism / <IdgRdIq
3. Cognitivism / AT lcHBATG

4, Constructivism / TddlcHD TG

Correct Answer :-
+ Conceptualism / GUcIITIG,

6) Students should be engaged in the process of learning as a that relates subject matter
to problem-solving skills. / BT & AT $Y ufgpar & ¥ U # T g1 I1eT ) JHwT-
AN & SIYd & faug A Jafia 21

1. communication experience/ AR T AJHAd
2. contextualized experience/ UTHTITR AJAd
3. task experience/ Gop) AT

4. collaboration experience/ TEANIT T AJHT

Correct Answer :-

« contextualized experience/ UTHTIH AT



7) Choose the theorist whose theory talks about teaching machines and a programmed learning

%ystem./wﬁmmmﬁmﬁmmwwmﬁmmm%ﬁwﬁm
|

1. W. Kohler/g&_c{.aﬁ?ﬂ

2. B. F. Skinner /&).T% f&hax

3. Pavlov / OTdelld
4. E. Erikson /3 .U

Correct Answer :-

« B.F. Skinner /dT.U% {&he

8) Creativity characteristics is: / W’ﬂ'ﬁﬁ ﬁﬂm %:
1. Photographic memory / BICHhd Fﬂ%{

2. Divergent thinking / &= @

3. Introvert / 3-1?5@@
4. Fast learning / citer 37faraT

Correct Answer :-
« Divergent thinking / &= T

9) The inclusion of children with disabilities in classroom is now a worldwide trend. /

oy i gei @ it ST 9 T g yae 2|
1. Special / Tafre

2. Mobile school / 3Tfaefter faamerar &

3. Regular / fafda

4. Flip / TFelq

Correct Answer :-

« Regular/fafda
10) The development stage in Erik Erikson’s theory which occurs from 1 to 3 years is /
e e & g A e Ru et 1 A3 g8 d@ ga1 g a8 gl

1. Identify vs. identify diffusion / U8 &-TH YR &1 UgdM

2. Autonomy vs. shame / TATIAT TATH QU



3. Trust vs. mistrust / 98T demd 3rfaama

4. Initiative vs. guilt / U&ol IATH ORI GIYT

Correct Answer :-
« Autonomy vs. shame / TATIAAT TATH LA

11) According to the Psychosexual Developmental Theory, the basic instincts are found in the ____.
/ Tafe faera Risia ¥ ouR, ga vafwai ® urs STt 7

1. Unconscious / 37del

2. Conscious / It

3. Subconscious / 3adde

4. Superconscious / WA Tde

Correct Answer :-

« Unconscious / 3ada

12) Cognitive development does not study

1. Problem solving / H&1&dT fAaRoT
2. Memory / H{ﬁ

3. Language / HTNT

4. Relationships / et

Correct Answer :-

» Relationships / freat

13) The importance of play in education was mentioned by . e F @I F
Hged & @R Jeaf@d fFar arar ail

1. John Locke/ Sl dich
2. Aristotle / 3RE]

3. Plato / Toler

4. Socrates / gbId

Correct Answer :-



o Aristotle / 3&g

14) Affective domain of learning is characterized by aspect of our behaviour. / rfeere

F g1 TaT AR THGER & gge ganT afvta gar gl
1.1earning/3-Tf‘a'c|TcFr

2. Feeling / 31337f
3. Thinking / fJIaR &
4. Doing / & Gre|

Correct Answer :-

+ Feeling / 3-17:[3{%

15) ICT can increase in inclusive education. / AT fRAraw 7 A L}
Tl g

1. all of these / IRV Tt

2. Access only / hdel Clgﬂ

3. Equity only / &hdel HHTAT
4. Efficiency only / hdel G&TcT

Correct Answer :-

o all of these / ST Tt

16) What is the term used to denote the organized bodies of information that affect how we store,

interpret and process new information? / ¥eiT F Hafod AR #1 Afdse Fa & v 7T asg
F 394NT fFar ST § St §AR S A F warg, A AR Gk st wenfaa wwar 82

1. Seriation / ShAdGAT

2. Stressors / delldeh

3. Schemas / U@ (¥FHTAT)
4. Semantics / QTeGT

Correct Answer :-

e Schemas / ®R@T (FHIT)



17) What is the term that is used to denote the process of retrieving a specific item of information from
memory? / fF® e FT 3TANT FHIA ¥ FuaT & T @AY gEH F Ged FIA Y qfHAT By
fAsRa &= & v fFar s 82

1. Recognition / aR=ITe

2. Retrieval cue / g?—m‘rﬁ Tohd
3. Recall / Ucamr&EdAoT

4. Restructuring / HI&—
Correct Answer :-

» Recall / JcIrEAT0T

18) What is a characteristic of a child suffering from ADHD? / vdiva®l & dif3q s=ad &1 Fa70r F41 ghar
82

1. Motor problems / U FHAEITT

2. Speech deficits / @Tela &l HHAEAT

3. Intellectual disability / @ifger faeeordar

4, Inattention / 3Adled

Correct Answer :-

e Inattention / 3lId¥Tlel

19) What kind of personality trait is most commonly associated with being outgoing? /

Irseangy (fafel) & fhe ot &1 caiFdced 0T Wil & § FATI: 3T 3T 82

1. Extraversion / Elﬁ-'oi@?ﬂ
2. Introversion / Hﬂ%@?ﬂ

3. Depression / 3ddIG

4, Neuroticism / Frearfadr

Correct Answer :-

 Extraversion / Eﬁ?ﬂi’@?—ﬂ

20) What is 16PF (Raymond Cattell’s)? / (353 Feo &1 )16PF &1 87

1. 16 Perfectionism factors / 16 QUIATATG HRb



2. 16 Personality failures / 16 <IThdIe) G
3. 16 Personality factors / 16 <ITthaldl HReh

4. 16 Personal facts / 16 Afa@Td d

Correct Answer :-

e 16 Personality factors / 16 <IThaldl HRE

21) To develop critical thinking among children, the teacher should give the students a lot of : / ¥4 Y &

FAgcaqUl A Refia &= & o, e N oEl A a@3f@w o afgo
1. Lectures/ TATEATT

2. Assignments / U&d P (IATSAHC)

3. Notes / fecaforan

4. Impositions / 3TfARIgoOT

Correct Answer :-

o Assignments / UGd ®I (IABAHC)

22) Sternberg’s components of intelligence did not include : / ¥eaast F Feftr ¥ geal & T wfaa
el om:

1. Analytical intelligence / fI8uUcASD gi&
2. Fluid intelligence / gd 3THIAAT heg (Ffg Scioloid)
3. Creative intelligence / TIACHD g

4. Practical intelligence / <ATIEING g
Correct Answer :-

« Fluid intelligence / &d IAT deg (Fe[g Sciolord)

23) How can a teacher practice intrinsic motivation in the classroom? / T& fYaTe &t # mafis
WU & FFAT HA HIU THaT 82

1. Set class policies and rules to control the class discipline. / P& & JJRATHA o g & & for
et Aifaar 3R Agw [Auia )

2. Set high goals and make them practice to achieve high grades./ 3Td o1& [AUIRT b 3R 3¢ 3T
IS UTH e & T 3T T




3. Allow students to choose their tasks and work by themselves. / BTAl @l 30 FrEl B IS P 3R
TIA: BIH Hel Y AT G|

4. Allow students to make choices and hold them accountable for the consequences of their choices. / STl &l

gHerel fdmed gae 3R 3o 3ad gde & aRonaAl & fow Jaece 3@ & AgaAfa Sl

Correct Answer :-

+ Allow students to make choices and hold them accountable for the consequences of their choices. / STAT T

HeIET fahed gl R 3¢ 3l TdG & URUTAT & v Sarede @a $ 3gAfd St

24) Through which mental activity is available information transformed to conclusion. / &8 ARAF
TR & ATeaw ¥ sUdey AEEH F AFY F FuEERa frar amar §

1. Thinking / &=
2. Problem solving / HHAEIT HHATUTA
3. Reasoning / d&

4. Motivation / OIOT

Correct Answer :-
 Reasoning / d&

25) Which part of the memory is the clothes you wore on your wedding day stored? / ¥Hfer %1 Hia-ar
HIT 3T9F @R AT & T 9gal ¢ Fu3 | T HY. WA FLT 52

1. Autobiographical memory / HTcHBATCHED FHIA
2. Declarative memory / EINUITcHS FHIA
3. Procedural memory / UfhaicAs Hfd

4. Participative memory / HHTIN A

Correct Answer :-

+ Autobiographical memory / TcHBUTHSD THIA

26) Which of the following hinders learning the most? / fA&faf@d & & Far e 3™+ yfoorT &
qTET ST 87

1. Competition/ FfaaardT
2. Noise/ QI

3. Boredom/ 3&THT



4. Fatigue/ Udplel

Correct Answer :-

« Boredom/ 3Tl

27) Which of the following is a secondary sexual characteristic that develops in females during puberty?

| i@ & & sia-a@t ve alor gl Rdwar & N e F Sl Afant § ReRa o 82
1. Development of the ovaries / 38R &1 T

2. Menarche / TSigde

3. Growth of body hair / R & dTell BT T&aT

4. Deepening of voice / 3TaTsl &l IR BIAT

Correct Answer :-

o Growth of body hair / SRR & dTall HT TEAT

28) Which of the following is a parenting style characterized by low warmth and high control? / @& "
¥ Fl-d gre-ayor A Af¥F e AR srfes foaer Y faevar 872

1. Permissive parenting style / 3{eJSilcd<h qrel-ar9oT Qell
2. Authoritative parenting style / ARG TTel=1=0I§oT L}
3. Authoritarian parenting style / 3TTUIRAIG! Ulelel -OIGOT el

4. Aggressive parenting style / 3TShIHeh UTelel-UINOT Qell

Correct Answer :-

« Authoritarian parenting style / 3fUGRATG! UTell-GIyoT QAell

29) The famous physiologist who introduced the concept of reinforcement and was the first to apply

psychological principles to the area of learning. / 3§ YRigy WRR-fFar Rt (o) S
Yo (WRRIAT) $T FqURON yEaIad it HR AR F o F Aadeiae Ryl # ey F arer
ga oafad o:

1. Edward Thorndike / TSds Urisisd
2. Wolfgang Kohler / alehalaT dhlgek
3. Jean Piaget / S TOara

4, Ian Pavlov / gaid Uraela

Correct Answer :-



o« Edward Thorndike / TS UissHh

30) Which of the following is NOT a form of misconception? / RFafaf@a & & a1 rad aron agY &2

1. Non-scientific beliefs / 3Td<{aep AT

2. Cognitive conflicted ideas / HTellcHd TRFAR faedy foar
3. Preconceived notions / q\?ﬁ"u?r BEIE

4. Vernacular misconceptions / HATcJHATIT forear g@'

Correct Answer :-

« Cognitive conflicted ideas / T=IATcH® WIW AT faar

Topic:- General Hindi (L1GH)

1) Qe FA AT # I § aga & deredt

3¢ drd § g A

& & 7 ST

331 R & dAa

Fred-3red FIAIS & oo

IR AT A

9 A TEver

BIE ASH A GIHART ¥ 3PN IE BIRT &

ar 3aF FW doTT

fafgal & spax wee § avery

F3fi-F3ft daret § 3 swF e o gw I §

g w A

3 gardt § & g3rae fhash off 9@ @ A

v R at g @ ¥ 3w He "l

39T TSI F YgHT A T 7T geat F 3 qa@sv
weor: ‘RfSAT & sreax Fe § AT AT F ey e © -
1. FRfzar

2. A

3. IURIY



4. TFAI

Correct Answer :-

2) - FUA AT # I § aga & deredt

3¢ drd § g A

& & 7 ST

331 Rjw & A

ey qEAH & o

A AT A

9 A TEver

BIE ASH A GIHART ¥ 3PN I§ BIRT &

ar 38F FW d5aT

fafgaf & spax wee § awery

F3fi-F3ft daret § 3 suF sfiew ot gw I §

g w AR

¥ qardh § & quarae R sft a9t & @

T faeT A g 8 ¢ 38T Hg @l

39T TSI Y T A /T 7T geat F 3 qamsv
vea: “337 QU - oo 7 UfFd # HF F FEad goH I3 A 1T FE 87
1. Rfgar &

2. 3TSIEY Y

3. gl

4, FIATHT

Correct Answer :-

3) QaE-UH FOA a7 F A0 § aga @ Jawh
3+¢ g § Ig a9
F & o sw



331 R & A

ey qEAH & oo

A AT A

Iq A TEver

BIE ASH A GIHART ¥ 3PN I§ BIRT &
ar 38F FW d5aT

fafgat & srax wee & avery

F3fi-F3ft daret § 3 sEF e o gw I §
g w A

3 gardt § & g3rae fhash o 9@ @ A
v R at g @ ¥ 3w He "al

39T TSI Y T A T 7T geat F 3 qasv
weoT: ged R W gswadt ad 82

1. fUar & dis W

2. @ W

3.8 W

4. d9 W

Correct Answer :-

o dlT W

4) gag-AA FuA a7 H 31 § g | Jawh
3+¢ gdrdl § I§ A9

fF & 7 sew

33T Rw & A

TG-S AL F g

I FAS H

39 dr TEtETe

B T3H HT GIHART { IR Ig GBI &
ar 3WF I A5

R & sFa w4 § TR

Foft-wolt dareht 7 3 suF shaw ot gw areh §



g w A

3 gardt § &5 g3rae fhash off 9@ @ A

v R at g @ ¥ 3w He ¥l

39T TSI Y T A /T 7T geat F 3 qamsv
W WA HiadT fFw W amRa 32

1. dfaat & Fufa

2. Rfgar & Rufa w

3. dial T adare Rufa w@

4. gt & BUfd W

Correct Answer :-

o Al & adaa feufa w

5) Yag-ATH FUaAl 997 H A § qgd § Aawh
3+¢ gt § I§ a9

F & T s7

331 fow & A

TG-S AL F U

I FAS H

39 dr TEtETe

B TSH HT GIHART { IR Ig BIRT &
ar 3WF I A5

Rfyat & sav we § g

Foft-wolt dareht 7 3 suF s ot gw areh §
g F AT

3 gardt § &F graraa fras off o g AT
tS e At gl @ @ 3w He "al

39T TSI F YgHT A T 7w et F 3 qamw
WReT: IAART H AT FAT TAHT W TS §?
1.3T #1 a¥q

2. Weolel & T

3. ol aFg



4. 5T TG

Correct Answer :-

. AT aeg

6) YaE-AH FUaA a7 H I § qgd ¥ Aawh
3¢ dardt § I§ AT

& & 7 ST

331 i & A

ey FEAH & oo

I FAS H

39 v TEtET

BIE ASH A IHART ¥ 3PN I§ BIRT &
ar 38F FW d5aT

el & e we § v

Foft-woft dareht 7 3 guS iy o gw Sreh §
g w A

¥ qardh § & quarae frae sft a9t & A
T foeT A g 8 ¢ 38T Hg al

39T TSI F gHT A /T 7T geat F 3 qa@msv
weeT: el | T FAT AT 87

1. W HA ad

2. 9T Il aTel

3. 417 & arel

4. TERT S aTel

Correct Answer :-

o WHA A

7) Qg FA! 997 H ;1A § agd § A
3¢ dardt § I§ A

& & ¥ ST

331 fRw & Ha



IEB-IHTS A F Usa

I FAR A

9 A TEverd

BIE T5H H GSHAR! § IR I§ GINGT &
ar 38F FIW doTW

Rt & sFav wd § e

Fft-weft daelt # 3 suF sfaw o gw et @
g w A

3 gardt § F guraa fras off a8 g a
T faeT At g & ¥ 3 Hg qal

39T TCIRT Y YT A T 7T geai F 39 qamsv
weot: Rf3ar &1 gfeeer = 82

1. Rafear

2. T

3.

4. afean

Correct Answer :-

8) YaE-ATH FuaAl a7 I § qgd § Aawh
3¢ drdl § I§ AT

F & a9 s7

331 Ru & A

IES-IHTB FIABT F U

I FAR A

9 A TEve

BT A5H T gIHARN F PN g HIRT 8
ar 38F FW doaT

fafgal & spax weeh & ey

Faft-aft Aol F ¥ swd shew s gw oneh ¥

T FT M



T gardt § F guraa fras off a8 g a

T faeT A g & ¥ 3 Hg qal

39T EIRT F YT A T 7T geat F 39 qasw
YReT: FEET T AT $H 9T H FAT 872

1. 598 A P TE

2. S E-5

3,919 1 T

4.5 9T Bl

Correct Answer :-

- S W

9) aE-AA HuA AT H 31 § g @ Jawh

3+¢ gt § I§ a9

F & T Jew

33T Rw & A

TG-S JIABI F g

YA FAT A

39t Telere

B T5H T GSHAN ¥ IR I§ BIRT &

ar 38F IW doa

Rzl & sFar FCA § TR

F3fi-waft daeht § 3 swF sfaw o gw el ¥
g F AT

¥ qardt § & aarae s oft a3t & @l

TS R At gl @ § 3w He "ql

39T TSI F YgHT AT BT 7w et & 3 qa@wmw
WeT: WEJd FfAaT H ga§ AR AT A FIA qwr 7 FieT 3var §2
1. Rfzar

2. TI5h

3. I
4, FTAT



Correct Answer :-

10) Yag-ATH FUA! a7 H 31 § qgd § Jawh

3¢ adrdl § g AT

F & a9 sew

331 Ru & A

IES-IHTS FIABT F U

IS FAR A

9 A TEver

BT ASH T gIHARN § PN g IR 8

ar 38F FW doaT

RfzAr & spuw I § T9Aw

Foll-amst el 3 7 gwd ST sht gwr oeh ¥

g wT AR

F gardt § & qorme faaeh st a2 & A

s R at gl & @ 3w He "al

39T TSI FI YT At QT AT geal F 3E qasw
YeeT: FAA A A A AT W A5 T T gIHART FIAT 87
1.9¢

2. ST

3. B¢ d5h

4. Rzt

Correct Answer :-

. BIC d5h

11) Yag-AH FUA! 9097 F 31 § qgd § A
3+¢ gdrdl § I§ a9

F & T sw

33T Rw & A



IEB-IHTS AN F Usa

I FAR A

9 A TEverd

BIE T5H H GSHAR! § IR I§ GINGT &
ar 38F FIW doTW

Rt & sFav wd § e

Fft-waft daelt F 3 5w sfaw o gw el @
g w A

3 gardt § F guraa fras off a8 g a
T faeT At g & ¥ 3 Hg qal

39T EIRT F YT A T 7T geat F 3 qasv
geeT: AT Fgr a1 g Y &2

1. R ATAA Y

2.3 S hr

3. dihda} 3@ o W & ST ®

4. g B hl

Correct Answer :-

. JrhdeR 341 8 oA o ST &

12) gag-rd HUaAr a7 F 31 § a5 § Ao
3¢ drdt § I§ A

& & 7 ST

331 fRw & Ha

IEB-IHTS A F Usa

I FAR A

39 v TEtET

BIE T5H H GIHAR! § IR I§ GINGT 8
ar 38F FIW doTW

Rt & Fav F § e

Feft-Faft daeht F 3 suF fiew o gw I §

TH FT M



T gardt § F guraa fras off a8 g a

T faeT At g & ¥ 3 Hg qal

39T EIRT Y YT A T 7T geat F 39 qa@sv
yeel: dSHl eg e # @ AT A7

1. Thade

2. fgaaa

3.59H ¥ PS5 AL

4. g

Correct Answer :-

13) w—awﬂmﬁm%a@@ﬂm

3¢ drdt § g A

& & 7 ST

3371 fRw & Aa

IEB-IHTS AT F Usar

I FAR A

9 A TEverd

BIE T5H H GSHAR! § IR I§ GINGT &

ar 39& FW doa

Rt & e w § e

Foll-aslt et F ¥ swd T o gw o §

g w A

3 gardt § F e fras off a9 g aa

T faeT A g & ¥ 3 Hg qal

39T EIRT F YT A T 7T geat F 39 qamsw
yeel: AT & ATCAA & AWF HA W AT Argar @2
1. Fedl 3R @heldl & A H g ARBAT <Tfh &l
2.3 & Al @

3. gl dr



4. WX AR Feor afh dr

Correct Answer :-

o Hodl 3R Theldl & Ag A TR ARheATel b dl

14)ﬁagam€rzﬁaaﬁvﬁ$ﬁa"nﬁﬁmm%ﬁ;ﬁa@mmmaﬁlﬁfrma
#ﬁﬁmwmaﬁuﬁﬁé’rmaﬂmﬁm#mwaﬁw@@m#wmaﬁw
Wed ot X 3T B ¥ F& 97 31 747§ A e HR A gor I §, AW A oA A qore F 37
w%m#mammm%lﬁﬁmaﬁm#mm%ﬁh#mrm gl M Q F&d
Wmmﬁ%l&n‘##ﬁw—mmﬁ*ﬁﬁﬁmﬁa?awaﬁm B @ v ) A g
m%mﬂ?aﬁﬁﬁmaﬁ%mﬁiﬂta@ ¥ o1 93 gu ¥ frae Fo g § e foeef
ﬂvﬂ:maﬂn%ﬁvaﬁrﬂé%l

39T AGHT P qeH A R 10 Wl F 3w IaBv :
yeaT: AfFST it 3 A RE & aaa war swh 62
1. STEIIRTSTE
2. ISIRTETG
3. QAMESTRIETE
4. FIICIETG

Correct Answer :-

15)ﬁagam€rzﬁaaﬁvﬁ$ﬁa"nﬁﬁmm%ﬁ;ﬁa@mmmaﬁlﬁfrma
#ﬁﬁmwmaﬁuﬁﬁé’rmaﬂmﬁm#mwaﬁw@@m#wmaﬁw
Wed ft X 3T R ¥ F& 97 31 747§ A e AR A gor I §, AW A oA A qore F 37
w%m#mammm%lﬁﬁmaﬁm#mm%ﬁh#mrm {M’Uﬂaa?r
Wmmﬁ%l&n‘##ﬁw—mmﬁ*ﬁﬁﬁmﬁa?awaﬁm B @ v ) A g
m%mﬂ?aﬁﬁﬁmaﬁ%mﬁiﬂta@ ¥ o 93 gU ¥ fhae o gam ¥ gd-eA el
ﬂvﬂ:maﬂn%ﬁvaﬁrﬂé%l

39T AGIT P qeH A B 10 weaAl F 3w IaBT :
geoT: Af@®T & el T 47 7

1.3 § PIE T

2. ATl el

3. Al g

4. Urel Yol

Correct Answer :-

o AT Yoo



16) # sga o1& off 5w AW R&AY ol A% 3wl warch § & a8 A3 ThsHT SEliNmETg sl A AN AR
#ﬁﬁmwmaﬁmﬁ#é’rmmlaﬂrﬁaﬁ#mwaﬁmﬁﬁlaﬁa#mmaﬁm
Wed ft W 39 AT 69 o 9w 30 T4 g1 AW e AR i ger e § AW T ,
@ &, w#mammm%lmmwm#mm%m#mmm@:ﬁqgaa?r
W AT Ued g1 YE FA T U F-UF T9F F QaF Baa a3 [ 39 Y
w%waﬁmﬁﬁmaﬁ%aﬁ?mﬂ?a@ ¥ oIS g
ﬂv*meﬁw#ﬁ'@mﬂé%l

39T AGIIT F qgH A B 10 weal F 3w B0 :
YR ‘GeT' HT qAIGATH TGl 87

1&g

2. 3T

3.3

4. o7

Correct Answer :-

qTarrararrara—ér%l aw##ﬁw—wma;ﬁﬁﬁaﬁa?#,w
w%mﬂ?aﬁﬁﬁmaﬁ%mﬁiﬂtm CRCCR R g
ﬂv#maﬁn%ﬁvaﬁrﬂé%l

39gFd AGHIT P qeH A B 10 weaAl F 3w IaBv :

TeeT: ATQFT A Siegelt foras FROT AW & AT Jga M52
1. 39 & HROT

2. PUINTT & HROT

3. 3fdep 37T H HROT

4, TABAITAT B BRI

Correct Answer :-

18)#agam€rafra—q'ﬁ'\=rﬂ'\=nefn#ﬂmm%ﬁ;agaammhmﬁwﬁamﬁﬂma
#ﬂﬁmwmfmﬁﬁé’rmmlmﬁm#mwaﬁﬁglm#wmaﬁw
Wed ft W 3T R ¥ F& a9F 31 747§ A @ HR A gor I § AW A oA A qore F 37



Tl &, 7 ¥ 3T & IHeT G agar gl A @riﬁg‘fr e ¥ gor et § SR A gher @ A €1 AW Q W
Waﬁmﬁ%lewﬁv}ﬁw— T ¥ e Srae a3 g WHT a T B @ v F AY e
qﬁaxmﬂawﬁ#ﬁme’lﬁ%aﬁ'{ 4T 3 - ¥ B 9 gU &1 fhaem oo gam & gH-gA e
AT & FROT G F AT TTT TE B

39T AGIIT Y qgH A U 10 weal F 3R JaBv :
YeeT: e & e G T §7

1.6 |

2. &

3.7707 4

4.9 ¥

Correct Answer :-

« T A

19) # sga o1& off 5@ 9 R&AY ot A8 37l warh § & a7 73 FThsHT TeleiNmETg sl A AN AEERT
#ﬁmmmﬁ#ammlmﬁm#mﬁaﬁmq | ¥ ¥ FT §HT dF FO
Wed ff W @ A 99 F& amw 3 7231 ¢ AW T AR E g Freh ﬁﬂﬁ?ﬂmaﬁrm#m
@ &, m#mé’rmmm%lﬁﬁmaﬁm#mm%aﬁtﬂmra’raﬁrﬁlﬂ?qgaaﬁ
W dATE-dTd Ted §1 4E H ¥ Ued - 399 & (e Gaad 92 F, W 39 a ¥ s & v g1 N iR
m#wwm#ﬁmiﬂ?ﬁ%aﬂrﬁ%ﬂta@ ¥ oI 93 U &1 Frae $5 g ¢ ed-gAn Rieah
ﬁvﬂ:maﬁﬁnﬁ;mm'ﬂ?%l

39T ACII HT Yo AR RBu 10 weal F 30 9950 ¢
Ue: §ET U IS alel €ed Tga o 47
1.3 § PIE e

2.9arE 9 & ok & S

3.7 Uy & Rad S

4. =g 48 & s S|

Correct Answer :-

e THh TG & [ I

20)ﬁmmmmhﬁmalﬂﬂmm%%WHQmmﬁmmemﬁwa
ﬁﬁﬂmqwmm:??rmmlaﬂtmsﬁ#mﬁaﬁ ug §1 f X 5 9HT 0F TS
Wed ff W 3T A 99 F& aod 31 =7 ¢ AW e AR G g Il §, AT G oA A g€ § 30

@ ¢, ﬂﬁ#mé’rmmm%lﬁﬁmaﬁm#mﬁm%aﬁr#mrma?ﬁﬁl#tqgaa?r
Wmmﬁ%lm‘##ﬁw—wmakm%a?# IT AT R awE N e
m#wwm#ﬁms’m%aﬁrmﬁta@ #mqﬁgtrmﬁmmwgm%ﬁmﬁaﬁ
ﬂw*mmna;favmwé%l



3YYFA TEHA T YgHT A U 717 9ol & 3o 930 :
veeT: ‘W HT GG oasg F4T 82

1. 418

2. |1

3. 4919

4. f&

Correct Answer :-

21)#aﬁamaﬁmﬁwﬁmaﬁlﬁﬁmm%ﬁ?a@nﬁmmmﬁ%ﬁlﬁma
#ﬁ#mwmmﬁﬁé’rmaﬂaﬁraﬁaﬁ#mwaﬁwgﬁm#wmaﬁw
Wea ff W 3T A 99 Fo amw 3 721 ¢ AW Tar AR I g I
m%w#mé’rmwm%lﬁfrm#aﬁmﬁmm%aﬁr
Waﬁrmu—&%lm‘fr#ﬁw—wm%ﬁwmﬁ , 9T 3T
m#mwmﬁﬁmaﬁ%aﬁ?mﬁta@ ¥ o 92 e 1 frae 3o gam ¥ e-eAnd Rieah
ﬂv#maﬁw%ﬁmm'ﬂ?%l

39T AT Y IGHT Al U T TRaAl F 3o T3
WeT: gt HT IS AT 87

1. -t

2. efell

3. |

4. Sl

Correct Answer :-

22) # sgd o1 ot 5@ AW ReAY off) AN 3wl aard § F a7 7 TP FEHRETE HEN oY A Freerd
#ﬁﬁmwmaﬁmﬁ#é’rmmlaﬂrﬁaﬁ#mwaﬁmﬁﬁlaﬁa#mmaﬁm
Wed it W 39 AT #a Fo a9w@ 30 I §1 AW @7 AR A g At § AW g GO A a9 F a9
w%m@mammm%lmmwm@mm%m#mm gl M Q a5
wmmﬁ%lwﬁz}ﬁw-wma;mﬁmﬁa?awaﬁm B @ v § A g
w%waﬁmﬁﬁmaﬁ%aﬁ?mﬂ?a@ ¥ o1 9 U §1 fraar o gam ¥ gd-een foieah
ﬂv*meﬁw#ﬁ'@mﬂé%l

39T AGIIT F YgH A R 10 weal F 3w JaBv :
weeT: ‘RAFhr &1 AL aeg FAT 82

1. 3T



2. g

3. el

4. 91 HaT

Correct Answer :-

23)ﬁmmmmﬁvﬁﬁﬁlﬁﬂmm%ﬁ:WHQmmmaﬁlﬁma
#ﬁﬁmwmaﬁmﬂﬁammsﬁtaﬁ'aﬁ#mﬁraﬁ ug gl f F $T 9HT 95 IO
Wea ff W 3T A 89 Fo amw I 721 &1 AW Tar AR G gF I &, AW g oA A Io6 § 30
rgan%W#mﬁrmmm%lﬁﬂaﬁaﬁm#mm%ﬁhﬁg’r&rmﬁrﬁlﬂ?qgm
W AT-aTd Ued §1 YE FA T U F-UH T4 F AEF Vet a3 3, Waw @ T ok & v &) A aRw
m%wnﬁaﬂ##ﬁmiﬂ?ﬁ%aﬁ?mﬂtm ¥ o u3 g §1 o 3o gam § g-gerd Rieaht
ﬂv*maﬁm*mmﬁ%l

3YYFA TEHA T YgHT A QU 17 9ol & 3o 930 :
Y2 I "edAT J9 gt oAt ar af@wr?

1. 9gd 21 A

2. 9gd oI A

3. fager & o

4. &1 1 TS 0|

Correct Answer :-

24)ﬁaga&ﬁﬁmﬁvﬁﬁﬂl#ﬂaﬁﬂ%%aga@mmhmﬁwﬁamﬁfrma
#ﬁﬁmwmfmﬁﬁé’rmmlmﬁm#mwaﬁw@@m#wmaﬁw
Wed ft X 3T B ¥ F& 97 31 747§ A e HR A gor I § AW A oA A qore F 37
w%mﬁmammm%lﬁﬁmaﬁm#mm%ﬁh#mrm gl M Q F&d
Wmmﬁ%l&n‘##ﬁw—mmﬁ*ﬁﬁﬁmﬁa?awmm B @ v ) A qIfge
m%mﬂ?aﬁﬁﬁmaﬁ%mﬁiﬂtm ¥ o1 93 gu ¥ frae Fo g § e foeef
ﬂvﬂ:maﬂn%ﬁvaﬁrﬂé%l

39gFd AGIIT A qeH A B 10 weal F 3w 9aBv :
geaT: R T gFigar A€ g2

1. U<

2. TOT

3. 44T

4. U191



Correct Answer :-

25) # sgd o1 ot 5@ dw R M A I qarch § F 9w A SHII srEhiNmETg sl ) AN FreEred
#ﬂ#mqﬁnmaﬁmﬁ#ammmmsﬁ#mﬁaﬁ u$ g1 T A T 96T aF IS
Ted ft W 39 A §9 & 9w 31 A7 {1 AW A AR ;G gor e F, AW AgW Yo A qo€ F q97
Tl §, T3 @ e & W G For 1 AV I g a® @ o worht § SR A gher @ Al §1 N QW@
W AT e § qF A ¥ Ued tF-rF I F RAaF O 93 4, W g a F sk @ av § W aie
g & FROT {P ToA # RFwa @eh § IR A R &G - 7 o w3 g §)| raen 7o g § e-eE it
T F FROT gAW F AT TG TE B

39gFd AT A geH A R 10 Nl F 3w IABC
yeeT: AfFHT & Sfiaer H e g5 i

1. G oFel & 1Y
2. AR & |y
3. 3G & A1Y
4, famem & @y

Correct Answer :-

o AR & F@Y

26) # wga oI ot 5@ AW Rl oAt AN 3 99§ 9 AR FhsH FeriNETg s o8t A FreeErd
#ﬁﬁmwmaﬁmﬂﬁammaﬂtaﬁ'aﬁﬁmﬁaﬁ ug gl i F $O GHAT 95 F©
mﬁwmﬁwwwmmwhﬁvmaﬁrm@waﬁﬁ%ﬁvmmaﬁrm#w
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W ATT-aTd Ued §1 YE FA T U F-UH T9F F AEF Bawt a3 8, Woaw @ T o & v &) A aRw
m#mwm#ﬁmmﬁ%aﬁ?mﬂtm ¥ o u3 g §1 o 3o gam § gdgerd Rieaht
ﬂv*maﬁm*mmﬁ%l

3YYFA TSI P YgHT A U 17 9ol & 3o 930 :
ma:ﬂvfram#aﬁwaﬁaﬁgé?

1. el ATARAD

2. Il UTRATRD

3. thael AN

4. 3P A

Correct Answer :-

o WP T



27) ¥ 9gd oidt A 5w A9 fdt K 48 sl Fardt § 1% a5 g TwsHe SerivmEe urht 1 58 areea
A 39T Ugal HeH SR # g gerar 4l 3R o  oft A Iuw 59 18 urs §1 v § $° 99y 9% $° ugd 0
W 3 5= AT $O a9 3 747 7| A7 el 3R 31 Yo el §, A A YoiA 1 Ioig | q97 36T 8, Tk §
3ieX B 3feX GA 5T ¢ 1 T A I T | ot Il ¢ 3R H I | Al {1 N P TG W ATe-are v
FITFE A T U TH-US U & Ryasd e 98 &, R 3@ @) A B 81 T &1 R grie- uld & SR g ga- |
ﬁﬂﬁqgﬁgﬁ%aﬁ?ﬁ%ﬁ?%@—ﬁmﬁuégq%'lmwgm%aﬁ-mﬁmﬁﬂﬂévwsﬁm%m
L) I

IUYT TR B UgHR 4 3T 7T u4ff & IR Ja1s¢:
U U el {59 "o iR SnutRa @ ?
1. 3 )

2. TS Tl
3. HABTART
4, 9c & HAN

Correct Answer :-

. T TS

28) # 9gd Bidt A 5w A9 et 1 Adt ot g & % a5 g9 wpsHe e yrft B & argea
A 3T Uge HeH SHRT A & Ferr ATl 3R 3« ft 7 Iud 99 9d urE §1 fu ¥ o 99y 9% $© Aea A
W 3F Y T P AT ST 7T 81 AT T SR ST GoT SITelt 8, AN A6 Yord B qoig & a1 gal ¢, T §
&iavé’r&iﬂaﬁa'sm%lﬁﬁﬁmﬁwﬁwﬁ?ﬁﬁﬁm@ﬁ@ﬁ%@mwm-wuﬁ
B IE T T U=y TH-UP vUd & Ryg e 984, WR 3iE.dl A Bid 8138 | T aIfe uld & dRur gt gaq o
ﬁm:rgﬁgﬁ%aﬁ?ﬁﬁva@—ﬁmﬁu%ﬂ%lmmgmgm%ﬁ-mmﬁﬁvavwsﬁm%m
I4A TS 2
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1. It

2. 3

3.9

4.
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29) Jag-XMH HU-T a1 F 3f1d § 95 A At
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5 A st oR
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3 df e
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1. e

2. THTIT
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4. PUAT dTIT

Correct Answer :-
o HUAT G
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Correct Answer :-

« HAA AT B &l

Topic:- General English(L2GE)

1) Fillin the blank with the correct option in the given sentence:

A cremator-- is the place where corpses are burnt.
1 -y

2. --ia

3. --ium

4, --ation

Correct Answer :-

2) Fillin the blank with the correct option in the given sentence:

A --print on a currency note could be seriously dealt with.
1. im--
2. mis--

3. blue--



4. re--

Correct Answer :-

e mis--

3) Read the poem carefully and answer the question given below:

THIS is thy hour O Soul, thy free flight into the wordless,

Away from books, away from art, the day erased, the lesson done,
Thee fully forth emerging, silent, gazing, pondering the themes thou
lovest best.

Night, sleep, and the stars. -By Walt Whitman

What is the transition that the poet mentions in the poem?

1. The transition that happens from one day to the next
2. The transition from day to noon
3. The transition of reading books to talking over phones

4. The transition in human beings

Correct Answer :-

» The transition that happens from one day to the next

4) Read the poem carefully and answer the question given below:

THIS is thy hour O Soul, thy free flight into the wordless,
Away from books, away from art, the day erased, the lesson done,
Thee fully forth emerging, silent, gazing, pondering the themes thou

lovest best.



Night, sleep, and the stars. -By Walt Whitman

The suitable title for the poem is:
1. A clear midnight

2. A book

3. The day

4. The lesson

Correct Answer :-

e A clear midnight

5) Read the passage carefully and answer the question given below:

The culture of nuclear families is in fashion. Parents are often heard complaining about the
difficulties in bringing up children these days. Too much of freedom in demand, too much
independence; overnight parties; excessive extravagance, splurging pocket money; no time for
studies and family all this is a common cry of such families. Aren’t parents, themselves, responsible
for this pitiful state? The basic need of a growing youth is the family, love, attention and bonding
along with moral values. One should not forget that ‘charity begins at home'. Independence and
individuality both need to be respected, in order to maintain the sanctity of family.

What should be respected in order to maintainithe sanctity of the family?
1. Splurging pocket money

2. Overnight parties

3. Extravagance

4. Independence and individuality

Correct Answer :-

» Independence and individuality

6) Read the passage carefully and answer the question given below:

The culture of nuclear families is in fashion. Parents are often heard complaining about the
difficulties in bringing up children these days. Too much of freedom in demand, too much
independence; overnight parties; excessive extravagance, splurging pocket money; no time for
studies and family all this is a common cry of such families. Aren’t parents, themselves, responsible
for this pitiful state? The basic need of a growing youth is the family, love, attention and bonding
along with moral values. One should not forget that ‘charity begins at home'. Independence and
individuality both need to be respected, in order to maintain the sanctity of family.



According to the passage, what begins at home?
1. Learning moral values

2. Respect

3. Happiness

4. Charity

Correct Answer :-

e Charity

7) Read the passage carefully and answer the question given below:

The culture of nuclear families is in fashion. Parents are often heard complaining about the
difficulties in bringing up children these days. Too much of freedom in demand, too much
independence; overnight parties; excessive extravagance, splurging pocket money; no time for
studies and family all this is a common cry of such families. Aren’t parents, themselves, responsible
for this pitiful state? The basic need of a growing youth is the family, love, attention and bonding
along with moral values. One should not forget that ‘charity begins at home'. Independence and
individuality both need to be respected, in order to maintain the sanctity of family.

According to the author, who is responsible for the troubles that emerge in families?
1. Parents

2. Children

3. Society

4, Relatives

Correct Answer :-

e Parents

8) Read the passage carefully and answer the question given below:

The culture of nuclear families is in fashion. Parents are often heard complaining about the
difficulties in bringing up children these days. Too much of freedom in demand, too much
independence; overnight parties; excessive extravagance, splurging pocket money; no time for
studies and family all this is a common cry of such families. Aren't parents, themselves, responsible
for this pitiful state? The basic need of a growing youth is the family, love, attention and bonding
along with moral values. One should not forget that ‘charity begins at home'. Independence and
individuality both need to be respected, in order to maintain the sanctity of family.



In the passage, what are the basic needs for a growing youth?
1. Moral values

2. Respect and individuality

3. Family, love, attention, bonding and also moral values

4. Family, love, attention

Correct Answer :-

» Family, love, attention, bonding and also moral values

9) Choose the appropriate tenses to fill in the blanks in the given sentence:

‘Where__ Manu?’ He a shower.
1. has been, was taking

2. was, has been having

3. have been, has

4. is, is having

Correct Answer :-
e is, is having

10) Fill in the blank with the correct option in the given sentence:

The workers were so skilled that their was quite visible even to a layman.
1. affiance
2. efficient

3. efficiently

4. efficiency

Correct Answer :-
« efficiency
11) Fill in the blanks with the appropriate conjunction.

the bride the groom looked unhappy.



1. Either, nor
2. Either, for
3. Both, and

4. Both, or

Correct Answer :-

e Both, and

12) Which of the following options best combines the following sentences?
He stayed at home. He was ill.

1. Staying at home he wasiill.

2. On account of his illness, so he stayed at home.

3. He stayed at home so he wasiill.

4. He stayed at home because he was ill.

Correct Answer :-

» He stayed at home because he was ill.

13) Choose appropriate articles for the given sentence:

German is __ easy language to learn for English speaking students.
1. No article required, no article required
2. No article required, an
3. A, no article required

4. The, no article required

Correct Answer :-
» No article required, an

14) Choose the appropriate option that rewrites the given sentence in its passive voice.
You might catch a glimpse of the magnificent tree in full bloom.
1. Glimpses of the magnificent tree in full bloom might be caught by you.

2. The magnificent trees might be caught by you in full bloom.



3. The magnificent tree in full bloom may be caught by you.

4. A glimpse of the magnificent tree in full bloom might be caught (by you).

Correct Answer :-

» A glimpse of the magnificent tree in full bloom might be caught (by you).

15) Choose the appropriate antonym for the highlighted word in the given sentence.

She pointed out the salient features of the building.

1. Inconspicuous
2. Impressive
3. Prominent

4. Significant

Correct Answer :-

¢ Inconspicuous

16) Choose the appropriate pronouns for the given sentence:

Raj is so uprightthat ___ never does anything that willharm " well being.
1. he, his

2. he, mine

3. himself, him

4, she, hers

Correct Answer :-
¢ he, his

17) Choose the appropriate synonym for the highlighted word in the given sentence.
Tactless comments cause offence, especially to sensitive people.

1. provocation

2. misdemeanour

3. misery



4. violation

Correct Answer :-

e misdemeanour

18) Choose the appropriate prepositions for the given sentence:

Sweep the bread crumbs the table laying the table.

1. off, before
2. under, after
3. across, with

4. from, by

Correct Answer :-

« off, before

19) Choose an appropriate modal for the given sentence:

According to the school policy, students wear their identity cards during the school hours.
1. could

2. must

3. might

4. can

Correct Answer :-

20) Choose the option that best explains the highlighted expression:

Some of his jokes were a little off-colour and I don't think my grandparents particularly appreciated
them.

1. stale and oft-repeated
2. highly intellectual

3. offensive



4. dim witted

Correct Answer :-
o offensive

21) Choose the option that best transforms the sentence into its Indirect form:

Notice on board: The final examination for all courses will commence from 20th August 2010.

1. The information on the notice board has been written that the final examination for all courses will be
commenced from 20th August 2010.

2. The information on the notice board specifies that the final examination for all courses will commence from
20th August 2010.

3. The information on the notice board is reporting that the final examination for all courses would commence
from 20th August 2010.

4. The informations on the notice board told that the final examination for all courses is from 20th August
2010.

Correct Answer :-

» The information on the notice board specifies that the final examination for all courses will commence from
20th August 2010.

22) Choose the option that substitutes the given phrase appropriately.

A sleeping room with a number of beds, especially in a school or other institutions
1. Hostel

2. Rest house

3. Convent

4. Dormitory

Correct Answer :-

e Dormitory

23) Read the sentence carefully and choose the option that has an error in it:

The Opera, even though performed by amateurs, it was excellent.



1. The Opera,

2. it was excellent.

3. amateurs,

4. even though performed by

Correct Answer :-

e it was excellent.

24) Read the sentence carefully and choose the option that has an error in it:

Her house is not big enough as to accommodate more than ten persons comfortably.
1. as to accommodate

2. Her house is not big enough

3. more than ten persons comfortably.

4. No error

Correct Answer :-

e asto accommodate

25)
Read the poem carefully and answer the question given below:

THIS is thy hour O Soul, thy free flight into the wordless,

Away from books, away from art, the day erased, the lesson done,
Thee fully forth emerging, silent, gazing, pondering the themes thou
lovest best.

Night, sleep, and the stars. -By Walt Whitman

Find the synonym for the word, “ponder”?

1. Contemplate

2. Disregard



3. Reject

4. Ignore

Correct Answer :-
« Contemplate

26)
Read the poem carefully and answer the question given below:

THIS is thy hour O Soul, thy free flight into the wordless,

Away from books, away from art, the day erased, the lesson done,
Thee fully forth emerging, silent, gazing, pondering the themes thou
lovest best.

Night, sleep, and the stars. -By Walt Whitman

What is the literary device runs throughout the poem?

1. Satire
2. Metaphor
3. Alliteration

4. Irony

Correct Answer :-

e Metaphor

27) Fill in the blanks with the most appropriate preposition in the given sentence.
The class begins 7:30 am _____ the morning.

1. on, for

2. from, in

3. at, in

4. by, during



Correct Answer :-
e at,in

28) Choose the right tag:

He had lived in London for ten years, ?
1.isn't he

2. did he

3. hadn't he

4, hasn't he

Correct Answer :-

29) Choose the most appropriate determiner in the given sentence.

student in the class is eager to take responsibility.
1. Most
2. No
3. All

4, Either

Correct Answer :-

e No

30) Change the reported question into direct speech.
She asked me if I was sleepy.

1. She asked, “if I was sleepy?”

2. She asked if i am sleepy.

3. She said, are you sleepy?

N

. She said, “Are you sleepy?”

Correct Answer :-



e She said, “Are you sleepy?”

Topic:- Social Science (SSC)

1) FERA stands for ./ BT BT QUf =Y ]
1. Fraud Enforcement and Regulation Act / 9r@1<rsl yada 3R afagea @

2. Food and Environment Research Administration / @I 3R gatazor HFHYT UAHA
3. Federal Emergency Relief Agency / %stel At Rellh wald
4. Foreign Exchange Regulation Act / fagelt #g1 fafaasa sfafags

Correct Answer :-

« Foreign Exchange Regulation Act / fagelt #ar fafaase fafaas

2) “Teaching History, Geography, Civics and Economics, etc. as separate subjects - only imparts
miscellaneous and unrelated information”, was said by:-

/ "foeTd, i, AR Rd 307 =i 3nfe ) 3re- 3T [Awat & wu o uerl daa fafay eiv
SEEfR SN UerH Bar 8", 3 grR1 HaT /W A -

1. Secondary Education Commission / HATCIRG AT 3mATeT
2. NCF 2005 / TeTHITH 2005

3. NPE 1986 / TeAUTS 1986

4, Kothari Commission / @IGRT 3TAET

Correct Answer :-

« Secondary Education Commission / #T€fdHes A& 3maer

3) A set of interrelated statements elaborating a learning material being taught is known as the skill
of:

/ Tgrdt ST arelt Rigor armh 3t fawgd SR W81 RER Gaiid $YA1 &1 TP e = $T Hivra Haarr &
1. Explaining / UfaUTe=T I1 SARSAT AT
2. Demonstrating / W&RH & BT

3. Questioning / U &l T

4. Lecturing / <I1&gT

Correct Answer :-



« Explaining / UfqUTG a1 ReAT AT

4) Which following is the correct statement? / fFafafea # @ S T oyT gt %?

i. Akbar founded his own religion known as ‘Din-i-ilahi’. / PR A “a"l'—r-q-sﬂ@" & A9 AT >
R i

ii. Akbar defeated Rana Pratap in the Battle of Haldighati in the year 1576. / P 1 a9 1576 H
oo Ul & g W UM YT Hi T

iii. Tansen was the greatest musician of Akbar’s court. / AT PR b AR P Ga HH TP R
q

1. iionly / &ael ii
2.ionly/&ad i
3. All are correct. / T TE Bl

4. iii only / Pael iii

Correct Answer :-
o All are correct. / T3t Fer &l

5) Which King was the author of Ratnawali, Nagananda, Priyadarsika?
/ B | IS TeATaet, A, faeiRien & dasd?

1. Ashoka / 312l

2. Chandragupta Il / <igad II

3. Harsha / &%
4. Samudragupta / HHGIT

Correct Answer :-

e Harsha / ¥

6) Which Article of the Constitution states that, "The state shall take steps to organize village
panchayats and endow them with such powers and authority as may be necessary to enable them to
function as units of self-government”? /

TR & for srsde § $aT T § %5, ISy U vardl @ afRid $31 & e Heu IaTa 3R 37 Wit
TﬁmmﬁﬁﬁmﬁW%mﬁﬂWﬁHWﬁﬁ%mm
II?

1.42

2.38



3.32

4. 40

Correct Answer :-

. 40

7) Which one is the text not written by Abul FazI? / 98 ®I9 IT U § Sl 3/gd Bod 1 "8} faran 82
1. Akbar Nama / 37haX &THAT

2. Ruqaat / ¥hld

3. Tabaqat-i-Akbari / TeehIcI-T-3has

4. Insha-i-Abu’l Fazl / $01-U-31geT Balel

Correct Answer :-
« Tabaqat-i-Akbari / dehId-T-3haT

8) Which among the following is the correct location of the Tropical Forest Research Institute
(TFRI)? /

fFrafafaa A ¥ $19 91 Swisfedtia a7 sguU YA (TFRI) BT T T 8?2
1. Bhopal / sirarer

2. Jodhpur / SR

3. Jabalpur / STEergR

4. Dehradun / S&ree

Correct Answer :-

« Jabalpur / SigelqR



Match the following Neclithic site:

1. Daojali Hading | A. Baluchistan

2. Mundigak E.Bihar

3. Rana Ghundai | C. North kachhar hills Assam
4. Chirand D. Afghanistan

| AFAfe @ Faaremr Tl &1 FHed i

1. SIfetell §fSar | A e

2. HSHENH B. fa8R

3. O g5 C. 3cc HOBR BT
HEH

4. fiE D. {3

1. 1-B,2-C,3-D,4-A
2. 1-B,2-A,3-C,4-D
3.1-A,2-D,3-C,4-B
4.1-C,2-D,3-A,4-B
Correct Answer :-

« 1-C2-D,3-A4-B

10) Which of the following country is not considered a rigid constitution? /
@ # ¥ 9 U F vF FoR AR At AT AT ¢7

1. Australia / 3irecforar

2. Britain / foea

3. Switzerland / RagaRels

4, USA / 3taRer

Correct Answer :-

« Britain / et

11) The most staggering problem in our educational system on an all India basis is: /
Ul YRE & MR R AR e yomelt & e siftres e 37 areht gww 8:
1. Lack of funds / s &1 el

2. Lack of schools / ¥l & el



3. Drop outs / 30 33¢
4, Stagnation / 3TaUIAT

Correct Answer :-

« Drop outs / 31T 3T3¢

12) The study of the origin and development of human being and their culture is known as:

/ T Ft I 3R I ok ! Iwpfa & sreaas &t $gT STaT 8

1. Archaeology / QiTdcd

2. Sociology / HHTSIR/ME
3. Anthropology / ATAARME AT FlA=ATe

4. History / sfderd

Correct Answer :-

« Anthropology / ATAGME T Fia<T=

13) The main purpose of criterion-reference evaluation is: / ATGS-HeH Jeaid &1 &I Se,xT
gl

1. Determination of ranking of the student / B & shat /i 1 FEROT

2. Assessment based on predetermined objectives / qd fA4TRa 3223 & MUR WX kel
3. Assessment of attainment of group performance / TIHg U T UIfH HT 3MTheld

4. Assessment of the skill performance of an individual / TaRF & BT U &1 ol

Correct Answer :-

« Assessment based on predetermined objectives / q@ fAuiRd 32231 & 3MUR W 3Thcla

14) Classical pattern of education is called ./ YT & 3pse Yeot Y HET AT &
1. Trivium / Sfaget

2. Rhetoric / Oifeca &

3. Quadrivium / Shell-ddecd

4. Dialetic / §gIcH® dhugia

Correct Answer :-



o Trivium / &faTa

15) Who among the following is the author of ‘Politics’? / RFaifaf@a & ¥ wla “gidfesa” &
JTF §?

1. Rousseau / &4r
2. Plato / Tolet

3. Aristotle / 31TE

4. Socrates / GhIT

Correct Answer :-

* Aristotle / 3I&E]

16) Who is known for initiating electoral reforms in India to ensure free and fair elections? /
T 3R feget 9o gafaa =@ &7 aRa § g gUR 4% N & e ST e S @2

1. N. Gopalaswami / Te. JiqrerEarsit

2. T. N. Seshan / &I. ud. QAud

3.S.Y. Quraishi / T&. ar$. i

4. M. S.Gill /t#. T8, @1

Correct Answer :-

o T.N. Seshan /&. ©a. qua

17) According to Seligman ‘Geography’ is included in: / Afeemiter & 3re7aR ‘aeter et &
AT ¢

1. Semi social science / 374 TTATGIS A==

2. Social studies / HTHATTSR ICITA

3. Pure social science / [g HTHATISTh faeire

4. Science with social implication / AT dIcTd g fa=are

Correct Answer :-

« Science with social implication / HIHATSS dcud Jeh =it



18) The social and co-operative expression of thoughts and ideas in the class, which is concerned
as a miniature society and shared environment, this method is known as:

/ w7 Ent AR warel f wenfow dR weedY AffeafEa, st v oy warer 3k @
wIiaRer & & # wefa 37, g R sy &

1. Problem solving method / HFEAT FATUTA fafey

2. Project method / aRASTAT fafer

3. Socialized recitation method / FHASIpa #f@®w 3mgfa Afd, @agipd urs fafa
4. Discussion method / uf=al fafer

Correct Answer :-

« Socialized recitation method / HTSIpd FIT&S ARy AfQ/ FHgPpa urs fafa
19) The concept of Public Interest Litigation (PIL) was introduced by ./
Sefed FfRewr (NIM$Te) Fr HAUROT _ F@RT AF A AS AN

1. Justice Sarv Mittra Sikri / =mafd ¥d &g el

2. Justice P.N. Bhagwati / =arz#fa dt. v, $oradr

3. Justice H. J. Kania / =amaeffd Td. o1, &faar

4. Justice Sudhi Ranjan Das / =aeffd g & &

Correct Answer :-

« Justice P.N. Bhagwati / =am3effcl O1. T4, $argch

20) The technique which is often used by all teachers for transacting skills, ideas, attitude and
processes among students is called as .

ol # Pierd, FEw), tfiesior i uframsd &1 aa-da e F AT s qaft Rl q@rr s #@
I ATl s HY FgT AT ¢l

1. Activity-based teaching / Tifafafdr smemfa fRigrmor
2. Projective technique / &Tdl dhelich

3. Lecturing / =aregr

4. Demonstration / U<l

Correct Answer :-



« Demonstration / &2l

21) Which of the following is the technique of collecting all the necessary information about a
child with a view to studying and solving his deep-rooted problem? / fef@aT #  fla =

F=d Y TE TATAT FT IEYTT A 38 & HlA T T T 30F a0 & gt 3R+
JATTFNT THT Fl T ddhadld 2

1. Experimental study / RIS 31eaa
2. Case study / &8 ¥

3. Qualitative study / I[0TTcHD IFETA

4. Quasi experimental study / 31 UIRIcHAS® 37T

Correct Answer :-

« Case study / &8 T2

22) Which among the following is not a function of evaluation? / fA=afaf@a & ¥ =i ar
HeATF FT 0F FA A6 62

1. It helps to study the entry behaviour of the children in all aspects. / Ig HHT Ugel3il 3 == & gdr
ITER T IETTA A H FAGe BT gl

2. It helps to undertake special instructional prografs. [ Ig 3TefcTcHeh PIhd Y& PL H HAag
T &

3. It helps to assess different educational practices. / I¢ Taffe Af&dH 3FTMET &1 3MMhold T
ACE AT B

4. It does not provide for individualization of instruction. / Ig A& & daRhetoT & forw Ue g1
AT &

Correct Answer :-

« It does not provide for individualization of instruction. / I% & & dafthaor & forw uere =g
T &

23) Which among the following models of teaching belongs to Social Interaction Family?
/ Raror & erafaf@a sfaaet & § w9 amfos wesnfaar oRar & F&fa §2

1. Concept attainment model / HheuaT WA Uit

2. Jurisprudential model / =TT & UfdHA

3. Non-directive teaching model / faERIa fRretor ufden=



4. Advanced organizer model / 3eaid 31T UTdATA

Correct Answer :-

« Jurisprudential model / =T & UfAHATA

24) What is the full form of SEZ? / @< (SEZ) &1 qof &7 &1 8?
1. Special Education Zone / faw & &9 (¥aere ('\_{ﬁ??l?r SeT)

2. Special Economic Zone / A e &7 (T ECAGLIEERGIGH)
3. Special Equity Zone / Taw sfdadr &1 (¥aerar sfFadt i)

4. Special Equal Zone / TAW THTA &1F (TULAS SaFadl i)

Correct Answer :-

» Special Economic Zone / Ay e &7 (T ShIAIHD Slie)

25) Under whose rule Turkan-i-Chihalgani was introduced?
| JHI-T-Tgee fhEd arEa & ded 4% A A o

1. Titutmish / Seqafer=r
2. Razia Sultan / mﬁc'_vlﬂ

3. Balban / dddd

4. Qutub ud din / $dd 3¢ T

Correct Answer :-

o Tltutmish / Seqafd=r

26) Which Vijayanagar ruler adopted the title of 'Gajabetekara (the elephant hunter)'?
| fFE RSIIR A EE o ‘IeeedT (B11AAT 1 )’ Fr 3 gror Ai?

1. Bukka / gaFepT

2. DevaRayal / &g 3T 1

3.DevaRayall / &g I II

4. Krishna Dev Raya / SUT ¢a I

Correct Answer :-

e DevaRayall / ¢a T II



27) Which of the following is found in the earth’s core? / et & & gedt F FR (FdT #mT) F FAT TR=AT
STaT 82

1. Magnesium / 37Ta
2. Ferrous / Bd

3. Silica / T&ferenT
4. Aluminum / T TH

Correct Answer :-

« Ferrous / %{g

28) Which of the following paradigm followed the Quantitative revolution in the evolution of
geographical though? /

frafaf@a & @ e vfowe @ sinfos few & amcas Fifa 1 e
1. Regional Analysis / &I fagwor
2. Areal differentiation / &= faREAIoT

3. Post Modernism / 3eX 3Tfeiehdrare
4, Exploration and description / 3=duur 3R faaxo

Correct Answer :-

+ Post Modernism / 3t 3Yfehdrarg

29) Which ruler was the first to defeat Muhammad Ghori?
/ AgFAE A N WISTd FI AT Tgel ATTH Pl °1?

1. Prithviraj Chauhan Il / g2dRTST digrd gdig

2. Prithviraj Chauhan I / QedRTST dier fed

3. Prithviraj Chauhan I / G2dRTST @il [

4. Jaichand / STTdeq

Correct Answer :-

e Jaichand / Sgde<



Which ruler introduced the price reforms in the market? / & ama® d 6R # Hea GURT At YTATT
2

1. Allauddin Khilji / 37em3eld T&ersit
2. Firoz Shah Tughlaq / ST Q8 Joreis
3. Mohammad Bin Tughlaq / #leFAe e arele

4, Balban / &oldd

Correct Answer :-

« Allauddin Khilji / 3@ms8a et

31) Which animal is engraved on Harappan seals? / §3vdT & gl T W@ Serax #t 3chot fwar amar
2?

1. Goat / I

2. Horse / €a1

3. Unicorn/ FRa (Ffiehier)

4, Cow / M

Correct Answer :-

o Unicorn/ &AM (JfAdre)

32) Which Constitutional Amendment introduced Right to Education as a Fundamental Right? /
e wdufas a@due o Nan & 3eR F A 3WaER F 7 & g fFre

1. ggth

2. 84'h

3. 860

4. 81%

Correct Answer :-

. 86th

33) Which text is not written by Kalidasa? / #1fogra o leT @1 71 g1 for@m g2

1. Meghadutam / At



2. Malvikagnimitram / HTeITdepTA T,

3. Mrichchakatika / FTodhichA
4, Shakuntalam / Qﬂé‘v?—l?vlﬂ

Correct Answer :-

« Mrichchakatika / Feoehiedha

34) NABARD was introduced in LoAEE ® vfad fRET e
1. 1972
2. 1982
3. 1988

4. 1990

Correct Answer :-

35) _ Government has the power to legislate on ‘residuary’ subjects. /
WEHR & 99 '3afrse’ {wal W Feg_ a1+ A gl

1. Local / ¥UT=

2. Unitary / T

3. Union / €9

4. State / 7T

Correct Answer :-

« Union/ &9

36) s an institutional mechanism to provide representation to the states of India. /
U UEINIT a9 § I 4Ra ¥ sl w1 vfafaftes vew war

1. Rajya Sabha / qog@HT

2. State Legislative Assembly / TsT fauragan

3. State Legislative Council / 35 faura aRug

4, Vidhan Sabha / farumaaar



Correct Answer :-
o Rajya Sabha / 75T

37) is a process by which the government sells their assets and hand over the management to
the private sector. /

U yfpar @ OWE q@n SER AU F9fy dud § 3R vdue # @t a oAl @
1. Privatisation / fasitenyor

2. Liberalisation / SGIRYeROT

3. Public-private partnership / @rdstfae st smafiery

4, Disinvestment / fafaaer

Correct Answer :-

« Disinvestment / fafaasr

38) means the price of product increases but the value of the product decreases. /_
F Aadd ¢ & 3cUg T FAT q¢ ATl § AfeT 3cUIG T Fed G A ¢l

1. Corruption / UFRIR

2. Inflation / HEEHIT
3. Hoarding / STATERT

4. Minimum Support Price / 7ddd FAIT Hed

Correct Answer :-

« Inflation / FETEHIfA

39) Vedas are also known as : / 3al ®Y Ig sft g1 ar &:

1. Smriti / ¥Hfd

2. Nirukta / @%@
3. Shruti / #fa

4. Kalpa 7/ %eq

Correct Answer :-

« Shruti / Hfd



40) Who among the following is known as “the Architect of Indian Planning”? /
Rrefafaa # & R ol Ao & TRER & w7 # A e 8

1. Prasanta Chandra Mahalanobis / 9RTed deg FgTallad

2.V V Giri /& & &

3. VKR VRao/d & 3R & 1@

4, R C Desai / 3R & ¢ars

Correct Answer :-
 Prasanta Chandra Mahalanobis / URled Teg HeTATIH

41) Who delivered the famous speech "Tryst with Destiny" to the Indian Constituent Assembly? /
R wfue wom # aflgy smvor "Rive R 3fe fraer R
1. K. M. Munshi / &.T#. #f

2. Somnath Lahiri / @AY o

3. Jawaharlal Nehru / STdT&X oflel dg®

4. Sarojini Naidu / RISl A

Correct Answer :-

o Jawaharlal Nehru / STdI&X oTel de®

42) Who was the first Governor General of India? / TRd & Ugo Tdeil el HiT I?
1. Warren Hastings / aR<l giecsd
2. William Bentinck / fafora dfesw

3. Robert Clive / IaC Fotsd
4, Lord Cornwallis / &S Pidriord

Correct Answer :-

o Warren Hastings / aR<l giecsd

43) Who had started the magazine Jugantar? / ZaeaR (SIMR) Uit HT gama fraar v 42

1. Veer Sarvarkar / d¥ @R



2. Bhagat Singh / #91d &%
3. B G Tilak / & Sit fdereh

4. Aurobindo Ghosh / 3Rfde v

Correct Answer :-

 Aurobindo Ghosh / 3Rfdg &Iy

44) Who supplies coins in India? / TRa & RFHt i 3mqfd i Far 82
1. Security Exchange Board of India / #iRclr ufdefa Rfesa a

2. Commerce and Industry Ministry / aTfoTeg 3R 3aT FATe™T

3. Ministry of Finance / o =g

4. Reserve Bank of India / 9IRd Rea d6

Correct Answer :-

 Ministry of Finance / faa 3o

45) The transfer of ownership, property or business from the government to the private sector is termed
as i

THR & fash & # Farfdea, §ufe a1 sqawr & gedrasor H1 FgT S B
1. Nationalization / JTSIgehUl

2. Globalization / d#feroT
3. Privatisation / faiiepIoT
4. Liberalization / 3&T{IepIoT

Correct Answer :-

« Privatisation / fasiieIon

46) The correct concept of evaluation reflects in: / W A A I3TurRon [T H gRefaa
g -

1. Diagnostic Evaluation + Formative Evaluation / Gl Jeidh + JaTd® Hedid

2. Summation Evaluation + Measurement / J1cA® Hediched + AT

3. Measurement + Judgement / #T + 0Ty

4. Tests + Examinations / TI&TOT + TJI&TT



Correct Answer :-
¢ Measurement + Judgement / #1T + Aok

47) The Social Science which draws its information from both natural sciences and social sciences is:

| wrforE e s wpfae e it aenfos R @ @ v IR woa X &
1. Geography / 3Tdl

2. Civics / aAWTRSG &

3. History / 3fdera

4. Political Science / IS fagm=

Correct Answer :-

 Geography / 3alel

48) The term “laissez-faire” means__ ./ Usg “dq B (aer AfA) &1 37F & I
1. Less government intervention / & TIHRT &€&

2. Less market intervention / &l d1elR &&deld

3. More market intervention / 31f9&% IeIR g&dalq

4. More government intervention / 31TF PRI e&deiy

Correct Answer :-
« Less government intervention / &d TIBNT TEA&TT

49) The Great Bath structure was discovered in which city of Indus Valley Civilization? / eI
(Rrener w1eeR) A @ Ry ardt @eaen & e ael & g A2

1. Mohenjodaro / HigeIoligar

2. Lothal / olrer
3. Harappa / gstur

4, Dholavira / GTeITdRT

Correct Answer :-

e Mohenjodaro / AgAsilest



50) Seasonal unemployment is a characteristic feature of ./ wtE#r SVSETH a H
fewar 1

1. Agriculture / ¥
2. Service / &dT
3. Manufacturing / fafeaor

4. Industry / 39T

Correct Answer :-

« Agriculture / $f¥

51) When was the Constitution of India adopted? / HRT & WA FI HT HITAT IAT 4T?
1. 26™ January, 1951 / 26 Sterad), 1951

2. 26" January, 1950 / 26 S/eTerd, 1950

3. 26™ November, 1949 / 26 F&ay, 1949

4. 26" November, 1948 / 26 a&ey, 1948

Correct Answer :-

o 26™ November, 1949 / 26 7@ax,1949

52) Green Belt Movement is an environmental non-governmental organization. Focused on
afforestation. Who initiated this movement? /

9 e 3figia T Taiauiiy IR-WRER e g1 St f a-ieor R Hfed 81 59 siigiad &1
IEAT foaA 12

1. Shirin Ebadi / R3a wardr
2. Wangari Mathai / @omr #1213
3. Helena Norberg / e aARadT

4. Winona La Duke / faaliem o 33

Correct Answer :-

« Wangari Mathai / do #1$

53) Which ruler was described by Sir Huge Rose as ‘the best and bravest military leader of the
rebel’?



| Y & OF G@n frw ares 1 'R #1 w39 3R e segy d7 Aar' F w9 F afvta fem ar?
1. Begum Hazrat Mahal / 997 gsRd #Fgd

2. Rani Laxmi Bai / Tl @& ars

3. Bahadur Shah Zafar / @IgIgY e IHY

4. Kunwar Singh / $er e

Correct Answer :-

« Rani Laxmi Bai / =T or&aft ars

54) Cape Agulhas makes the dividing point between which of the two oceans? /
T werw et A FernRl F @i Reree g q@rar 82

1. The Arctic Ocean and the Atlantic Ocean / 3fThfed HERITR 3R 3fcdifcd HENETR

2. The Atlantic Ocean and the Indian Ocean / 3icdifcd HERITR 3fR fe HERINR

3. The Pacific Ocean and the Atlantic Ocean / URIid HERIFR 3R 3fcdifed HE™NR

4. The Indian Ocean and the Pacific Ocean / &g HERITR 3R URId FeRITR

Correct Answer :-

« The Atlantic Ocean and the Indian Ocean / 3@ HERAIR 3R e HERFR

55) How long did the Challenger Expedition last? / 3esR 3fdae frast ¥@9 a& ar?
1. Four years / IR a¥

2. Five years / o/@ a§

3. 18 months / 18 &g

4. two years / ar au

Correct Answer :-

« Four years / aR a¥

56) Which is the largest fresh water lake in the world by volume of water?/
S 1 A F RE & g fr e 7@ arar gl A e Fla @ 82

1. Lake Michigan / TRfRmea sfrar

2. Lake Malawi / &TerTdY sfter



3. Lake Baikal / d@rer it
4, Great Bear Lake / J€ IR 3ol

Correct Answer :-

« Lake Baikal / &1t et

57) In which of the following seasons, brief squalls and thunderstorms known as Kalbaisakhi, or
Nor’westers, often occur? / Aeafaf@a & @ 5w Alvd #, FodaE I AETET § T & I I
arar B qwle AR 3, R el e 82

1. Early winter / &3l aféat
2. Early summer / &3t arferat
3. Rainy Season / @iRer & #lasr &
4, Late winter / a1g &6 gféar &

Correct Answer :-

« Early winter / &31er aféai 3

58) Which among the following country is also known as the last remnant of the former Papal
States? [

frrafaf@a & & e S 71 qF 9ud Foou & difas ey Fww FUsl S Sirar 8?2
1. San Marino / 39 A=

2. Vatican City / afesra Rr

3. Monaco / #1AThr

4, Malta / AtecT

Correct Answer :-

« Vatican City / afcerar &S

59) Which among the following country is considered to be the Origin of Coffee Plant? /
fArfaf@a & ¥ 5w qu N Fhr & AT F1 T AT SATGT 82

1. Vietnam / fo=aa=mer
2. Peru /0%

3. Ethiopia / sf&=nfoar



4, Brazil / sirefrel

Correct Answer :-

« Ethiopia / sfa=ndan

60) Who helped in taking transformative steps in India’s foreign policy and persisted in making
peace with Pakistan emphasizing that a state can choose its friends but not its neighbors? /

fraer 9RT 1 R Ay A Nadaw Y Fe7 3o F gergar i 3k ufFeas F g aify T=9w WS
W SR & §C g1 fF T TsT 30 aFeal A I Tohell § Afhed 9 TRIRAAT Fr €2

1. V.P. Singh / @v.d1. f&g

2. LK. Gujral / 311$.3%.3[eRTel

3. LK.Advani / Tal. &. 3samoi

4, Atal Bihari Vajpayee / 3icar faery arera=it

Correct Answer :-

« Atal Bihari Vajpayee / 3icel faerly arera=it



